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* PARTI Genpﬂ lntelllgence & Reasomng A

Dlrectmns ©: Nos. 1 to 9). Select the
related -words/letters/numbers from
the given alternatives. e RPNL ‘

8. ACEG zXVT THILM:?-
1 Horse": Hoof :: ?
{a) Man ; Foot (b Dog : Black

%’%m
(c) Paise : Rupee ' (d) Pen : Pencil

’ | ‘EJ Il
¥ (a) Hoof is related to horse, in the same way, rl WW[ i'

foot is related to man.

2, L0:PK::IR:? -
(@) GT (b)SH (C)MN {d) FU 9. Oxgen Bum Carhondxomde ?
%0 R . f{a)lolte” - (b)Foam
. + = -4 ' (c) Extinguishes (d) Explode «
g IR \ b (c) T fire burns due to presence of oxygen
Ig'o ":K“ tl R ?N ‘ andtheﬁfeexungwshesdue to carbon
L ' . dioxide. -
3. Night Mommg 12 Night mredim(QNos 10'to18) Seleet
- (a) Noon (b) Forenoon the one which.is different from the
~ (c) Afternaon Eveﬁfﬁg ) otser three responses. > ‘
¥ (d) Morning comes aﬁer mght and mght 10, (2} Pen (b) Ma{k.ﬁ
comes after evening, . - {c) Paper {d) Pencil
4. QTU:ILM::BEFi? - b (c) We cari wiite with pen, marker, pencil on
(a)yPsZ (5) CFH paper. So, paper is diﬁerept out of them.
@WZA - UG 1L @ABG  (B)COR
» (0 : a (c )EFHK (d) GHK
QT U:I LMBE IWZA y(d < m
PR L g YO B
H#HH HH +a+1 R .EJBI:)—(: CDU
5. 6524 6465:: 0638 :? roiie R e
(a) 9825 (b) 9736 (<) 9697.(d) 9579 A [ﬁ% ,
D (o) 6524~59=6465 EFHK QHJK
i A T4
%38-59=9579 C YRS

6. 04:144::256:7 Therefore, GHK is diferent from the other
@16 )32 (400 @)336 three . ,

) () § =64and(8+ 4f =12° =144 2. () Graph

* In the same way, : (c) Model
*16'=2%6and(16+ 4 =20"= 400

) Chan
(d) Dyawing .

7, 08:28::15:7 . responses. )
(@63 (b)65 ()126 (d)124 C13.@7 »(b)S3 ,
VO : ™ B (31 (der
08 x02 =16and 16 =2 X tﬂa "y {c)Allare prime numberswht!e 87 isdivisible
\ Y by3 o
Bx@=0N=B1E=R M@k O Mountin
T () Hillock (d)Valley

¥ () Model is different from the other three

) (d) Alf have peakmept vaﬂey

15. ()9?9949 (b)646-686
T e )828-848 - {d) 434-464
) @mal t/negwm ué(mbers ‘the middle d;glt
is twice in smmgrmp
16, (ONML - RjORE
(c) )@JWj (d)HGE
) (DA ﬁbcbtters arearmnged alphabetvcaﬂy
mrrgfmmft order; except (d).
17. ()¢ R (5
o Ay
¥ (d) All are vawels excébtv
18, (2)2447 " (b) 3861
() 7498 > " (d) 5477
¥} (Q)nallthe pairs, ﬁrst umbers are even and
second numbers-areadd.
19 Arrange the following  words
N acoordmg to English Dxcnonaxy
1Cagle = 2Caden
3.Gabo ', 4.Gamish
5. Garland
(323,415 (b)32154
- (932451 (43215

. » (b)The reqwred prderofth jren words is

and and

Garbo, , Gard .. Gaw;,

Garmsh

ctfons’(Q Nos. 20to 21) Which
oneoﬂ_ﬂza )(opmjza}mes would be a

- 20, 1Veget§l;,lg 2 Market
3. Cutting 4. Cooking
5. Foodi 7t .
@ L2365 (0)21345
©31254 (d)52134

|.‘ (b): The required ascending order of given
words is Markleegetablq Cutting Cooking
and Food.

21, 1. Hone)’? b 2. Flower
3.HoneyBee . 4. Wax
@134  ()2143
(c)2 301,4 d)4.321
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0 () The required Mmg m&y jven

‘84, 11 BANGAIDRE wwrs&u‘ss
R mﬁs&az,hwmmwnm

, wordssﬂawer.HmyBee.Hongmea& 3
¥ in the same code?

o mmﬁdmm ) (a)mhﬂ'whww-mnd;(, (a) 24638 - (b)255438
el s R b L Qasae L (d)254s3g
Ti Jb(b)sAweALpni,.
R RRan
543
wa

=3 me 144,121,100, ?
(bm {c)

Q(C)

 meaningful wor g
letters may be mdwawed &om the

gwmresponm

EOCNA :
; _ @)34521 - (b)23154 .
31 Sameethmsm aolvedonthe (t)43125 (5)13254

; " basis of 2 certain syMem, Orr the same
o mﬁndmtheconwanmufor

thatmn’sfaﬂmfumyhthssso
Agwmlﬁomphwmepason

(S)g;ksms (b)Hrsnephew‘s
o) Hﬁ?athefs ' (d)Hlsown ;

926. 5, 7,23, 47, 95 L - D » (@
(3)13 (b)10 1(,91 S e (
(5411

"~ "By diagram; it is a’ear’%hat the photo
~is of his own, *

Dimgkms(  Nos, 37 and 38 Select
Memnggumbam )

b (OS> Anit
- (Sunit=Sumijy £

e e
@6 (87" ()3 d)6
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¥ 6 - ras,—s =2
BB s9-5=4
J— \ie=12-4%8"

39. Mitan travelled 12 km soul:hwatd,
. then tumed left and
- thesy tarned Jeft'and travelled 12 km.
Howfarmhﬁtanﬁomthestarﬁng

point 7.

(a)skm '

(e)12 km -
) () A-‘_

{b)10km
(d) 14km

' The required distarice is
- AD=BC=10km. .

40. Six s A, B, CD,EandFare

in‘a rew, faicin East. C is
betwemAandE Bismtwthenght
‘of E butleft of D, Fis not at the right
end. Whmhpa:rwstmngbyﬁmsxde

of D? °
{a)CE - (b) FA (C}EB (d) FD

ThepawEansettmg by thes.ldgofD

: '41.Thequwhonbelqwhasas;aftemmt
. followed: by two
“have - to decide the
‘assumption * is’ xmphed in- the
statement. Indicate youir answet. - -

Statement Rich people .are; mare

prone to have heart attacls.
" -Assum
I. Most of the geaths,amgng tich
people are due to heart attacks.

H: -Poor people donot hhvé heart '

« attacks,
(a) Onlylis :mphcut
(b) Only liis implicit
(c) Both I and: ll are implicit
' (d) Neither | norllis |mpllc1t
) (a) Only1is implicit. :

42, MohanstmtsﬁvmpqmtAandwalm .
lkmwwardsSouth tumslettand'

- (a)fast G
(b)West -
i (c)th —
. '(d)South-West .

trayelled 10 Jm,

only two faces p:

(a)8
» (q)n--—‘imdm

pamted
=(n+2)x12

;-(4 2)x12 .

44. 'I‘hree statements are given tbllowed

by four canclusions I, L, Il and IV. -
You have to copsider the statements .
to be true even if they séem to be at -

variance from commonly kngwn facts.

You are to decide which of the given

conclusions, if -any, follow from the

' ngen statemmts Indicate your

Smemem:
" All dogs aré rats.
" Allratsare crows..
Al crows are parrots.
- 1. All dogs are parrots.
- I Some parrors are dogs.”
IILSomecrowsafédogs
. IV.Allrars are dogs.
< (a)tand i follow
. {b)Liand W follow
(c) Either l or IV follows’
- (d) Eltherlor Ilorm fo(low; ’

B NV
Ny % o

45. Whichanswm'ﬁguxemllcomplmfhe s
pattemmtheqmonﬁgwe IR

NS
m—w

(b) 16 (c)24 (d) 2

Hence, number of cubes have only two faces :

e TRTe . @ @
V@ e L
- 49, A wor

B AR ) @

».(c) . :
answetﬁgmemwhmhthe
quesﬁonﬁgmeishldden/mnbedded
QuuﬁonFigm'e ‘

- Anwérﬁwre's ,
. v_&z‘ésm
@ m j.(c)_.‘ )

()
47. Apmntpapm'nsfoldedandwtas
shown below in the question figures.

I

T o) ’::(d)
) (a) BRERP N
48 Whmhoftheanswaﬁgme,,,exacﬂy‘
the mirror jmage of the given
mheldonthp,

Lol

mpmentedhyonlyoneset
of 1 a$ given in any one of

altema!!&es sets of niumbers
.. given “in the .alternatives  are”
‘mpresmted by two. . classes of
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: /Dlmti‘ons

7,86, ¢tc -
0423‘.
Memldmﬂyﬂxenetfarﬁn

(b) 76,01, 44, 24
223

(2)69,44,20,43 .
L9502 ¢
) (d)Accordmg to matrices,

D= 69,7688 95 .
0=01@20@ ¢
“R=04 @04

DOOR'=S7. 13 32,.23' 1

o

'50. Wthh ‘oneof the: following diagrams
best depicts-the relationship ‘among
homs parrots and birds?

iio'?l'

@ '(b) (c) @

PART Il Engllsh Language ‘

" and some have nope. Find out which part of a

smtmcehaseuemrl!tbemwmmﬁ

madz(d) as your-answer;.

‘51, Due to the heavy rains, (3)/ the ship
i dro:vnai(bvy mniaglﬂmthe

?fz

ocean.(c) / No exror (d)
- ¥ (B) Usessank” in plactof ‘drowned’;:
52, Deathi-of {a)/ !mgnly son' (h}

) (cJAddﬁagJ beforqdegm

" 58, HefellhraVﬂrWam‘thseaused_

i

- 138, The cart wasdriven  Bilods
L

(b)/ him great pain. (€)/ No error (d)
-0 (c) Use acute in place of great”. -

54. Whia T met him (a)/themupleof»

back (b)/ Newny
m /. N(g)m @ W
() Use ‘a’ in place:of the ..

a nEw

55, Inhisoldage, (awmumyto

. get (b)/:(nomweakd&yby-day (1.4

; (c) Use ‘weaker'in place of’mare weak:*

(Q.Nos, 56 to' 60 In these
. questions, sentences are: givets wi
. alternatives are question.
" Choose the correct Bt of the four. .
56. OutMChet mezﬁpomubem

(a; dearedol‘f (b)Y eleared away |
{c cleared up (d‘}gg{ed ou; -
L @,

5’1 I.etme ! .
“(a)an. adwse . §b)a adwce B

(e some advice  (d) s(;mgm. N

l(c) '

~ (a) with
o )to : (d)bﬁsn R

a)

(QNos. 51 fn 55) In waae g
questions, part of the sentences have errors .

/made !

. Mohan desolate. (c)/Noemr(d) Lt

blanks to . -
"be filled in mﬁ:anappmpmte;g)zi(s).}"‘om'

59. Smmn wipsine eIy polite. at.: the
' mmt,becapsehewantstomake

(b)Has been' .

(@) was' bemg
(d) Is being .

(c)isbehavmg
) (d)

60. I 1 doi't | ad‘)ahcafe of s
,platfoxm thmhuwdm beeﬁlm

(a)thake (b)take
: (c) brlng (d) find
b (b}, EEI
Dlucﬂons (QNos 61 to 65) In. these
questions, out of the four alternatives, choose
: »'theouewmcbbestexpmsesmemeamngof
. the given ward.
61. Meticalous = |
{a) Correct (b) Clean

() Methodical, (dy anst!akmg

1] (c)  Meticulous' - medns - paying
.. attention “to" every . detail; Méthodncal
" means done in a careﬁll and Iogcaf way.’

62. Abundant.
{a) Sufficient (b) F[entxful
(c) Significant (d) Vibrant

» (b) Abundant means extstmg in Iarge .

quantities.

63, Anticipa te ;
(@ Antagomse (b) Expect
{c) Accept . -{d)Hope: .

) (b)Antmpme meanszoexpectsomethmg '

64. Restrict
{a)Curtail - ,«(b)Rfohlbm
{c) Retain’ (d)Retail -

) (a) Restrict’ means to lrmrt size, amaunc
range ofsomethmg % .
‘Curtail” means tol«msometbm&

* 85, Tremendous
(a) Awesome: . (b) Remarkable

(c) Considerable (d) E:messwe '

- careful -

) (a) Tremendous means verygreat; extremely
gond

'Dincuons(QNos mmm)mume

questions, choose.’ emxdoppamtem

‘ meamngtaﬂzengwmd

66 -Make ’
*.(a) Liberate " ()] Break
" {¢) Emancipate - (d) Bind
{b) ‘Make’ means.to create or prepare.
67 Praise
L (_) (b)Accuse :
(d) Scold

D (d) Prme" )neahs 0 express your approual

oradﬁf'mﬁ’dn
Bs,;-wr viid | ’
@) Hastenv =+ [ (b) Depart
*(€) Begin = "(d)Change
» (c) Terminate’ meanstoend ‘ )
69.: Rapidly . . .
" (a) Lazily, - suiAb) SeC"eﬂV
, " {¢) Slowly {d) Firmly
0 (0 Rapidly” means quickly.
| 70.°Successor - ,
‘(a) Failure (b) Loser

(c):Predecessor - (d) Predator

¥ (c) Successor' means a person or thing that .

comes -after somebody/ " something else.

Predecessor’ means a person or thing that

‘comes bqore somebody/ somethmg else.
Directions {QNos. ‘71 to75) In.these
Questions, four alternatives are given for the
idiom/phrase underlined in ‘the sentence.
Choose the alternative which best expresses
the meaniing of the idiom/phrase. .

71 The officer calld for an explanation
. ﬁomfhecashletfortheshoﬁageof

cash. .
(a) asked R (b) .
(c)served a nouce (d) demanded

» (d) Here ‘called for’ means demanded
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MQ;gmherbmﬂaer 80. mnﬂwd India. Directions {Q-Nos. 91:10100) In the
72 'ggm T (ayShikespeare. o - - _W,.aameaftbewmg:
(a) some help, - - (h)ahmt - (b)aShakespeare - " .- ~ . Fir b
(c).some mone? (d) learrit acting o {c)like Shakeépeare  pver.and 1 ’, the
» (d)Tookcuefrom’ méans to copy o follow. (dy No'improverient - with the the
73 Wewanwdﬂwgitlobeamprisefor » {d)NOfmprovemmtxsrqued " f o ‘
gm.m mmym . - Directions (QNos. slmss)lnm N e n - ;;'nf
R - Ty e
ﬁ;’? i tﬁeﬁf e “’1"", "‘,“"m“ fhe gy ohhmMmareMﬂbeing
(d)wnthdrewfmmtheplan e M;;k Mm N  pos aaihtymg
» (b) Gave the game away’ Pédns gave out branch of X p N excellent “time, 95 many. of the
the secret. .- () b)Dicgonary S fitions require for;ﬂ;}_tools
74. Letushaveammmkm (c)Encydopmdna(d)Dmuon o Moreover, thete was now a gza"é
?gﬁvgengm L5 b - ommundcating complex. thoughts
(b) emotional alk 82* mm-&iﬁ?mmm ‘ hewa'tol;mrt %h:qust?xlpl:ils
{c) frank walk - Vagabooct {8) de o118 across .

) (c) Heart to heart talk megnsfmnktalk. ) (b) A R i D e
5. Hnspeechtgnmonﬂ:eaumm « A , =

- (3) had no effect 8. ﬂwblem. ) meh o w (d)w ‘

 (B)moved. theaudierice ' gc)’S'ui'rable (d)Valmb!e ) 7 o
gg))impressedt:‘\ewdieme O @ . %a)) muwe 83 ;’332‘?,2,
‘ was quite short o Opew’
» (a) Tofall short’ meanstoﬁdto:eachdve 8‘ Wu%hﬁgmmw » (u) o
 standardorgfecthatouspecalorneed: |- () Naster "'; ()Dependanc 3. (fee i ()ght
'mwm%mmmﬁm' 2c)inm (d)Pmute o , (c)w '.(d)m
) wﬁam‘mofﬂwmls‘ ) . R '(a) e e e
axtammcoﬂzemdaﬁmdpaﬂat; 85. Sumomoneytobepmdfomeﬂnca 94, @)wvision ’.(b).c,_km
(a), (b) and (c) Wfﬂf}bmym N from captivity, : - (@tooks” (dhabliey
| "mmmcaseuompmmm S®) 4 e ¥ (a) » -
" nesded, pouransweris(d). . . () Tribute AT - 06, (@)lost. V_‘(b)vaunred
18, maasdthathewmmmww, _ (d)Penai:y DY (c)dgm;’t\ﬂqd‘ L@ fo:somen
di”‘“ dopments »@ : ,o(bp ‘
(C)See" ‘ ’gmmeach pigeindy (C?W"S edking -
:(d)Nowmprovemenft : cozmc(yspelt. axnctlywelt » (a) AL . ;

'Q (a) itshotdd be 'met’. - S ”» ()Skale ) R & (z)use‘v ‘

. a) Skaleton  mypude . . -

7. %%gamm i (c)Skgiatqn . ((d‘)Sketeton g;ﬁvadénnge
~(byThat R N ) AR s (&,mt
SR 1 AT RN

. oamprovement ) Misc i : e

o (a)ltshauidbe'fhoxe ST A ”’8 ::;on ((l;))ﬁpu_t{’

- 78, Unity i W is Mo most - gg. (s) Defonidy cbgaeﬁnarzlv\ @ Fe e T
| DOkice quahty O (c) Definively . -, (d) Defenitely Y@ o S
. (;)p:g‘uiar ‘ x '-\M e , (c) : .. ) 90' §;gw?§‘ ((bﬂ))ger‘eng L
Ec;framous g 89. (a)Exhilirate i (b) Exhilarate (b) b;en Vo T s
@Noingoeret | e et ok i

" addittzd d 90. (a)Maintenance. 0 T
(a) on. (b)in‘ (c)about (¢) Maintenence : )tln
(d)mlmprovement (d)Maintamnce. : »(© , 2

> @shoudbeont TR




SSC Data Entry & Lower Division Clerk Exam 2011: Solved Question Paper

SU=20°=90%42y~20°" ;..
=U+2y=90° f
Px¥y=45° ,
Btan(x+y)= tan4$°~1

102 The ratio of t.he angles ZAand ZBof

anon- squammombusABGDm4 5,

then the value of LC 8
(a)50° (b)4s® (c)80° (d)9s*
b (0)let LA=4x ‘ .
and £B=5x
In the rhambus ABCD,

\‘/717“‘““'“““7" '
ALU, —Lg
ZA+ LB=180°
4x+5x=180°

9x=180°

¥=20°
. LCS LA o

_4x20b wo 4

vuy

103. A straight line parallel to BCof AABC

intersects AB arid; AC at points Pand
O, respectively, AP= OC, PB= 4units
and AQ = 9 units, then the length of
APis

. (a) 25 units - ,(b) 3 units
“(c) 6 units (dyés uhits
) (c)Let AP=QC=x
Since, PQ||BC
‘ AP_AQ
P Qc
X9
) i x
= X=3% -
= x=6 . “([h“
AP=6 units .
104. K:x+.y =2 and xy % then ‘the
" valu of £ - X2y~ PV ry’mt»t{:r:ms
ofaand bis ~
@@ +49a  (b)d~3*
(©F -4’ (dﬁ :
' () Given x+y=g xy=b* ﬂmx
C =P =y -y
=d -4

105 From a right czrcu]a: cylipder of

radius 10 ¢m"and heighit 21 c¢m, a-

right circular cone ' of same
Jbase-radius is removed. If the volume
of the remaining portion is 4400 cn?,

then the. he t of the némoved cone

' ‘(talungt-—)ls

(@15¢em
{©21em

(b)a8em
(d)24em -

b (c) Let:the height of removed cone be h,

Then, . :
Volume of cylmder - Volume of cone

S| X10X10 ><21-§1r x10>’<10xh

" =4400 - :
o 1WW(21-§)=4400
= 2'1-'-ﬂ.=ﬁmix-7—
: 3-100 22
= zv—ﬁ_m = ﬁ-21-14—7
. 3 3
" he2iem
106. I is the indentre of AABC, £ABC

=60° and LACB = 50°. Then, ZBIC '

a)SS° (b) 125‘ (c)70° (d)65°
’ (b)lnAABC

A

£B=60°, £C=50°
L AA-180°-(60°+SO°) 70°
Naw,zslc 90°+ E
_9o°l+35°=1zs°'

R g PART i Quantltatwe Aptltude |
101, If re | X Ry 107. 1
L 0<x§";’<90° and;u::le(zxa%}, pr -‘X’y Wy ; SBa+)?+ (b2 1) +(2c 3)2 =0,
= ¢os (2y-t20°) then the value of . &=9)=y - Y) then the value of (3a+b+ 2c) is
P e == =) @5 0 ©2 @5
@ O @B @1 == y)(x—y)(x+y )G
7; B AR R =(x—yP( (x+y) - » @ we;, + 4+ (b~ 1)3+(2 Y= 0
) (d) Given, sin2x=20°) = cos (2y +20°) =(d —4)(a)" *Since; o of the th tim "
Sin(2x =20%)= sin 190° — - oy} . . < - N Sum 4 ree erms ‘in glven
= sin(2x=20%)=sin 90°~2y+20°) =@ -dla: e equiation cannot be zero, therefore these are

separately equal to zero.
“3a+1=0b-1=02c-3=0

-1 3
. =——,b= c=—"
a=T30Tes;

3a+b+2c=3{——1)+1 +2(Z)
B ‘ 3 "2

=-1+1+323
los. Among the numbers 12, %/%, 45, 3,
- theleast oneis’ - .
@2 BVE (945 (@3

» (c) LCM of 6,3, 4and2 =12

Now,J— (12)6 =(122)12 (144) =%

s =(4)3=(4‘) " ;(256)‘? =256
‘ LIS |
=6 )‘ =" =29"= =%z

1
Jia@)z 692 ~(729)’2 =¥
t'fearly, the least of the given numbérs is
s m,~/§ :

109 A trader marks his goods 45% above
- the'cost price and gives a discount of
20% on the marked price. The gain
percentage on goods he makes, is
@15 .(8)14 (c)29. (d) 16
) (d)Let CP=T 100,

Then, MP=T 145 "
80
SP=—X145=% 116
S 100° K
Gain=%(116 -100)=% 16
-~.Gain percentage = X X100% =16%
110. The simplified valtie of .
© (secxsecy + tan x tany)
. ~(sec xtany + tan x secy)* is
(@=-1 . (o
(c) sec?x - + (d)
) () (secxsecy+ tanxtanyy —
. (secxtany + tanx secy)’
= sec’xsec’y +tan’xtan?y -
+25ecxsecyranxtany
’—sec xtan’y
—[an xsec Y- Zsecxtanytanxsecy
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-secxsecy+tanxtany )
'y-secxnany mnxsecy
T =secix(sec’y — an’y)

==S€C x-tanix

=1

111. Speed of aboat is 5 km/h in still water -

and the speed of the stream is 3 kmv/h.
I the boat takes 3hto goto a Elace
andcomehack, thedistmce

(a) &75 km (b)- 4 km
“(c)48km (d) 425 km’
) (¢) Speed of boat, u=5 km/h
Speed of stream,v =3 km/h

If distanie of the-place be d, then
543 5-3
= g+-d—=3
. 373
= d[ﬂ]g3 :
. . 8
= d—3—’-5‘—8_4sk

‘12, Them@dmomneqmvalunmme
urﬁs of 20%, 10%, 5% is
(@ 1ies% . (b)316%
. (c) 31:66% . (d)32% :.
» (b) Discount equivalent to 20% and 10% is

(-20 1o+2°’”°)% o
100 SN 1O

=(=3042%=-28% "

Mow; discount equwalem 0 28%

>D()

“and 5% .
( 8- s+28x5)%
100 )" -

=(-33+1 4)%
= —31.6% 1

" Hence, required smgle dlscwnt is

- 316%

118. Ifxy(x+y) l,then the value of

F—f fls

@0 ()1 @3
» (c)Given xy (X+y)=1
=L=x+y ,
; Now,{}}-x’ -y= (x+y)3 ()?+f)
= yf =k O+ =)
=+ Pl ~F+F =00
=(x+ ) +Y +29~¥ - y’+Xﬂ
=(x+y)(3x)=3

@-2

+ an?x(an’y - secy):

114 MvesselsAandanmnamdandf
watér mixed

intheratio2 : Sand 4: 3.
Inwhatmhomstthuemxxmmbe
xmxzd -to form. a new mixture
' ‘half atid and half water?
(a)5:7 (b)1 2 (c)2:1 (d)7:5

» (a) ‘Water in vessel A =§
Water i in vcssel B =-;- ‘
And, water in miﬂw -1;
Then, accaedmg tothe rule of alligat:on, -

5\ /?
| 11/%_\‘%

Requvred ratio= —1- :l
_ 14710

=10:14= S 7

115. Thebaseofangmpyrannd isa
squareofsldewanlmglf the
vdlumedthepyramldisBOOOan’

- then its
(b)10 m

(a)5cm- -
(c)15em (d)20cm

» (a) Volume of Wram:d =Areq’ of base X

height : -
= 8000= 40><40xh
= h=5cm

116. _;’-'——_—vamef( )
2e5ael © b

is
@2 (b).ff (c -% @=
2)3+5x+2 3
2x2+5x+2 o
D 2=x
200 +)=x -
¥ +1.1

4 ﬂll'll

x'2

AT (x+1)=1: _

{19, Eachinternal angle of regular polygon
' external angle. Then,

‘is two times its

umnummormofmepomoms )

@8 ®6 (A5 (47
» (b)Inaregular; polygon
Internal angle + External angle —180°
=2+ x-wo"(x—merml angle)

= 'x = Eq:ﬂ)" '
= 2 —120“ (x-"mtemal angle)

If there be  sides in the palygon then
: (2n—-4)90°=120n -

(n—2)x180°=120n
(n=2)x3=2n
3n- 6 =2n
-6
Hence, number of sides:in the polygon is 6.

118, 'I‘hepmmetero!arhomhusiswcm
and the measure of an angle is 60°,

1084

then the ol t,is
@ 3cm ' (b)soJScm
" {c)160v3em*  (d)100em?

] (b) Perimeter ‘of rhombus

4a=40

a=10 . .
*Now, In AADE, p
sne=X
‘ AD - 10
B DET
e 2 e 4
0, A——
= DE=SV3
Now, area ofrhombus =base X height
“=ABXDE -
 =10%543
L =s0B et

119 Theg:onfﬂxeamasofthemmle

cireumieircle of a square is
(a)1:2 ()2:3 (c)3:4 (d)4:5
» (a)l.etsadeqfsquarg =a

For circumcircle, radius is given by
décoml a\ﬁ a

2 ER 75
For marcle, gdd;us is given by

h=

=,JOA —,Aﬂz

Ratig! ofthe aréas ofincircleand crrcumarde

=ratio of sqaares of the radii of incircle and -

crrcumarclsﬂ L

O

/\
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120. The ratid.bf the sum to-the LCM of _

two natural numbers is 7 : 12. I their
HCFmtﬂmﬂwsmaﬂa
a) 20 (B) 6 ()12 (d)8

) (© Let the numbersbeand y. Then,
xty 7
L1
Letx+ y=7u, L-‘t2u
Also, we haveH = 4 .
Again, consier x=3uandy=4u
Now,  IxH=xxy ‘
ux4=3uxdu
= . u=4 i
Hence, smaller number ‘
L =3y=3x4=1
121, sin® 5’+sm 8°+., » +8in? 84°
+ sin® 85° =

RO
ey

R I
. @np
D (0) sin'Ssirf 6+ L.+ sin? 84+ sirf 85
08" 85+ Cos 84 + .. + sir? 84 + sirf 85
= (cos’85 + sin 85). ‘
 H(cos’ 84+ sm’ 84)+ . 40 times
=1+1+1+ mﬂmes .

zgicmsacychc um such that
BC, 1§ ZABC =170°, then the
(i value of 1570 .
# (a) 60° (b)70'..:,(c)¢0° (d)SO"
) (b) Draw perpendicufatAE LBC. -
o D

: 1
(a) 395

©40

Since, ZABE=70° .
v LAEB= 0P
" LBAE. :;QQ?_.
Afso, LEAD=90°"
Therefore, ZBAD= é AE + LEAD
; C=20°FHe=n0e
- Now, ABCD is a cyclic quiiriteral,
. LBAD+ ZBCQERP. |
= ZBCD=180°-110%= Q°
123, A man sells 320 es at the cost
.. price of 400 mangoa, Hxs gain per

S centis

(@15 - (b)20. (c)lS (d) 10
¥ (c)Let CPof 1 mango =T awny: .
‘ ..CPofmmrrgoes-W

. spofszOmangogszmé"‘

. SPof1 mango = —.l‘-;" e

numberis

5

2

'Gam%=i—x100% :
S
_Tx1m%-25%

124 Theval!moﬂheexpmssmn .
(a-b) . b-cY
b~cfe~a) ‘(a—b_)(,c,, 0):

{c~a)’

7

@o (b)3

©1/3 (d)2
(a—by b-cp
' (b) b- c)(c—a) (a~b)(c=a)
S (c~a?
(a=b)b—¢)

___(a~b)"+(b‘—c)3+(c—af. o

(a- =0~ o)(c- 9 '

Léta b=xb- —c=y.¢- arz

D kty+z=0.
)?+f+z’=3xyz
' x’+f+z’ ,
Xz
(a—bf+(b o +(c— a)3 3
A(a-b)- c)(c ~a)"

125 A(mdoacertam;ohmmdays ‘Bis
60% more efficient than A. Tod@the

same job, B alone would take

(a)zgdays B)sdays
G 10days (d)7days
» (a)A saneday swork—a .

~B’sone dayskwork =160%ofl=1% )

. B-alone can cdmplete the work in ? )

"7 days

- 126, Anorecontains25%ofana]loy that

. has 90% iron. Other than this, in the
remammg75%oftheme,therelsno
iron. Toobtam(i()kgofpmeuomthe
quantity - of the ore needed, 'in
‘lalograms,lsapprmnma\‘dy‘ i
o (a)25057 - (b)26667
Q27523 . (d)300

» (b) Part of ronin the org=90%0_f; ‘

'.'%kgofirbn is needed in-1 kg ore.”

T r———— |§
(a-b)b~0)

» (©)in AABD,

. AB.

30°=

: -

AB=8+3%
el

i1 Kgafironsneded in 39 Kgore
60 Kgafrron is needed in ?xea kg ore
=266:67 kg ore /

127. If sin@ + cosec = methevalue

f sin*® 6 + coseci®g to
T s aealte

.9 (b)sin 0+ cosec @ =2is true anly when

sin 0 =cosec B=1
n'0+ cosecm(-) 1“’D 1= 2

- 128, Atzlesraphpostlsbentatapomt
above the ground due to storm. Its top
. ujst_meetsﬂ)egmundatadlstanceof,
m from its foot 'and makes an
" angleof 30°. ’Ihehelghtofthepostls }
b)23m .. -
(d)1om

(a)16m
(©24m. .

/

‘And, sin30°=ﬂ=i
BD 8D

BD:i-ﬂsm‘ :
172

Helght of the post = AB+ BC

=AB+8D
. -8+16 2%m

129 Ammberwhmdmdedhle glvesa
‘When

‘remairider 17,
-nuniber:sdmdedbyl.’i the>

"'”‘mﬂJainderWI]l

@0 (b)4 (6. (d)3

» (b) When the number is dlwded b,v 91, gwes

remamder as 17,
~Number is of the form 9x+17,

* Whenitis divided by 13ie, L +17

* Fheri the remainder is4.

130 WhenGO%ofanumbenssubh‘acted

" from another ‘number, the second

number reduces o its 52%; the ratio

of the first number to ‘the second
- number,is -

(a)6:5 (0)5:3 (0)5:4 (d)4:5

*V (d) Let theé first number be x,

And, the second number be y.

- Then, according to the condition,

Ty —60%x=52% of y
T y=52% ofy=60%o0fx -

= 48966fy 800fx

= x84
i y 60 S
Hence, required ratlo is 45,
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131, I!ﬂ)esumoftbetwonumbexsxslmr

and their quotient is 5, then the
dxﬁemneeofthetwonumbm,zs
(@115 (b)100 ()80 (d)72
) (c)Letthetwa numbers be x and y. Then,
x+yj-ﬁ20 ‘
and . N 5=9x=5y
Y-
Solvmg these ‘equations, We get
0 x=100,y=20

. Then, reguired difference
S L 5E100-20= 80

is 1078

n= ‘7) its height, "
(a)7 cm. (b)14em -
(y21em (d)28em”
» () Let height of cone=3x '
and diameter of cone =2x
Now, volume =1078

1m’h=1o7s‘ ~

553 2and its
>, then " taking

) 1x2 xxxxx3x-1078
3 7

o, 1078%7
A}gz...v.____
y a2

= ¥ =343

= x=7

Hence, height =3x = 3x7 2em

=S

138, Apezsonsoldanaxhcleatzo%proﬁt

- on the selling price. Afterwards, when
“the cost price mducedhy 10‘)6

_ he also. reduced: the selling psrice by

’ 10%H:s tageotpmﬁtoqcost

(a) 30 (b) %5 (225 (d) 12 5 -
b (b) Let SP=2100
Then, profit=%20 - [
Then,CP,=(00-20)=% 80 07"
In the second condition,

cg=2xso=?n_‘
T IR

58 =2 x100=¢90
BT v

- Profit percentaéelz 9'07;72 x100%
= » X100%=25% -
72
2x—
x+ 2y
@ ®
5 5
2X—y _l :
x+2y 2

= 4x “y=x+2y
Ix=4y

34. If

== thenvalueofsx y
2 +y

(C)g (d) 1

‘ ofhmghtandmediamem‘

" 2‘:.! -_-ﬂ:é);zi
3x+y dyt+y Sy 5 _
135. Aglrlwasaskedtomlﬂnplyanumber
by-;- instead she divided the number

by andgotthemult 15 momﬂmny
the conect mult. The sum of the -

digits of the number was
@4 ()8 (6

{d) 11
) (d)lfnumberbe)cthen . .

= - X=
B -7

Sumofthe digits =5+ 6=11

136. ’I‘heaverageageof45personsm
dea‘aasedbygyrwhenoneofﬂxem

having 60 yr is replaced by a new
' oomer Then, the age of the newcomer

: (a) aSyr (b} 55 yr. (c) 59 yr (d) 49 yr
» (b) Decrement in the age of new comer
=L X 45= Syr
L9 y

Hence, the age of newconier.
: =60-5=55yr

137. Therearemall 10 balls; some of

them are red and the others. white.
Theavemgeoostofallhal]sm?% If
the average cost of red balls is ¥ 25
andthatofwhlteha]ls:s 2 30, the
number of white balls

@3 - (b)s (C)6 (d)7 .

o » (c) Let number of red balls= =X

Then, number of white balls =10~x
According to the question, -
-10x28=XX25+(10-x)X30 -
= 280=25x+300-30x

= 5x=20

= x=4
Hence, number of white ba"s

=10- 4=6

“ 138 Either 8 men or 17 women can paint a

house in 33 days. The number of days
reqm!edtopamttlueesuchhoumhy

‘ 12 men and 24 women ‘working at the

(a) 44 (b) 43
» (c) 8 men=17 women

(c) 34 (d) 6

1 man = E— women

T 10
12men E-SZ X12 women =.5;-women

S12 men +24 women

51

‘= -2— women + 24 women
% s

== women.

Now, :
17 women paint the house in 33 days.
.1 women paints the house in 33 X17 days.

Rk -922 women paint the house in

33X17X2- 34
| — days
S99 .

' Hance,%?- women pgfmf three stich houses

v “nésx3=34days

. 189, The difference between simple and l

compound interest on a sum ‘of money
. at5%peramumfor2yrxs?100 The
sum of money myst be
() T35000 ~ {b)T41000
(c Y2 40000 = +(d) T 45000
] (c) Using the form ula, =

" Difference for 2yr =
ﬁe f y ﬁmz
o Y wﬁ’kxsxs
. e m x‘m .
= = P1R40000
140 A right circular cylinder and a cone
* have ‘equal ‘base, radius- and equal
heights. If their curved surfaces are in
_: the ratio 8 5, then the radlius of the
basetothehelghtaremtherato
(@2:3 (b)4:3 (c)3:4 (d)3:
(c) Let radius and herght be r and h
. respectwely : %,
Then, curved surface of cylinder

8 .
. curved surface of cone 75

¥
a
2

4
.1 s
i

i

4
L]
|

Lot =16P

1 =4 $
= abiel=2=34

o b

141. ThetangmtsattwopommAandBon
the circlg with centre Omtmect at P,

¥ mp
.ZAOB ZAPB 51, then, measure

of ZEPBs |
(a) 30° (b) 60' (c)45° (d) 15°

=5
= L 25 =16 +167
=
=

quadrilateral - PAOB .

10 |
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@ APAO=£P&O~.—.99°

; X% Sx=180°"
ik &(amf

whmh':s:approx:maubr aqual \b the’

producuonofamypes carftakmt other
indhear 28 s T

. Quringthe péxiozlvmmzpz%ﬂ’ x
pulne . . {@)P Gb)Q ©R (s
g (d) ForStypeofcars.ﬂwepraduammgasm
any - ; cdntmuausmmau. )

4(:‘)‘26& o 1950
() ’lndO&’eber 1952
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» (b) 26th November, 1949,
 ‘The Constitution of india ‘was enacted by
‘Constitution. Assembly on 26th November
1949 and came into effect on 26th January,
1950, : )

154. Whlchoneofﬂxefollowmgxsthe
smallest endoczine

gland Jin hyman
body?. B
(a)Adrenal A (b) Thyroid -
() Pltuﬂfafy >

(d) Pancreas .
» (0) Pltwtary ’, R
155. Doubletsa ...... ;....,..data,type. :
" (a) primitive . "
~ (b) user defined AR
- (c) system defined h
(d) local S

) (a)Primitive -+~ . S SR
. 158, g;llowspomomlmxslwxsdueto

deficiency of
(@) zinc (b) magnesium
(cyboron “(dyiron -
) (b)Magnesmm L o
157. RangaswamlCup
(a )wres:lmg
{c) hockey -
) (© Hocke,v Bs
158. meworrungofarodietxsbasedon
the principle of
(a) conservation of mcmentum
(b) conservationof mass . -t .
- {c) conservation ofa\ergy f
*{d) conservation
memerntum -
kof Momentum.

(b) football
S (d) golf

(a ] ]aldapara ’ ~(b) Garumara
(c) Corbert + ~ (d) Chapraman
» (d) Chapramari iforest is lolated nearNH31
connecting North- East with the rest a_ﬂndla

160. ‘!hexiverwmchxsusedformland_

waterways mInd:a
~(a) Ganga {b) Cauvery.
() Mahi (d) Luni " ‘
» (8) Ganga :

161 The: atmosphmc layer, closest w the

Earth, is
‘ ()mesosphere (b) hydrosphere
(c) troposphere” (d)ionosphere.

» (a) Troposphere is the layer closest to the: =
Earth, approximately 11 km high. Weather S

occurs only in the troposphere becguse it
tcontains most of the water vapour.

- 162, ‘YellowRevoluhon uassoclatedwlthv‘

the production of -
(@) poultry . "(b) gold
(c).sunflower - - (d) oul Seeds

» (6).Oil seeds.

168. Under the * Inmoandmmuoml'

_OldAgePenslonSchsme the

is associated with -

angutar :

of'thefollowmgmawﬂd .

" amount of pensxon for' those: above
* 80 ‘years 'has: been . increased. ,per
: monthfmm(200to SR
(a) T300 ‘(b) 2400
(€)X 500 ‘(d)% 1000
b (€©)T500,
164. The " state, Wh!cb has recently
overtaken Kamatakaforthetopmnk
" in'the produchon of bio-fertilizers, is -
* (a) Tamil Nadu - (b) Gujarat” -+
{c) Maharashtra (d) Punjab ,
» (@) TamilNadu, . - .

.165. The - uppex house of the State

. Legislature in India is called
(a) Legislative Council. .~
(b) Legislative Assembly.
(c) Executive Council
(d) Governor-in-Coundil
» (b)Legislative Assembly
166 Maximum mumber of sugar factonw'

are located in
(&) Uttar. Pradesh {b) Tamil Nadu.
- () Bihar. (@ Asom

» (a) Uttar Pradesh

167. ‘The All Women Expeditiori Team of

the Indian Air Force, which scaled the
Mt Everest . somdme hack, was
headed by
(a)SqntdrD Panda
(b) Sqn Ldr Nirupama Pandey - -

~ (c) Fit Lt Nivedita Choudhary

(d) Flebe Rajika Sharma

» (c) Fit. Lt Nivedita Choudhary
‘ 168 While computing nauonal income

estimates, which. of the following is
to be observed?

- and the value of |mports to be
“subtracted .

(b) The value ~of ~ e'xports to be :

subtracted’ and the walue of
imports to be added 2
. (c) The valie of ‘both -exports and
", imports to be added. ..
“(d)Tbe value. of both exports and
. imports to be subtracted

¥ (a) Thevalug of exports to be, added and the.

‘'value of imports to spbtracted ’

169 IftheaneMlmstaofhldw submits
his resignation to the President, it will
imean the resignation of the -
( ) Prime Miniscer only

Ministers
(c )ennreCouﬁcnlomeisters W

'(d) Prime Minister, Cabinet: Mlnlsuers )

-and the Speaker

" 9 (c) Entire Council of Minister

170. A fuse wire is made of an alloy of
+(a) tin.and copper -/
{b) tin and lead
(c) tin and alurhinium .
(d) nickel and chromium

() The value of exports to be added

“{b) ane Minister: and the Cabme:'

“»- (b) An alloy of tm andlead. :
' Fuse wire is frade of tin (63%) and

" lead (37%).
171. Ntutmish mta.bhshed a centre of
learning at . '
(A Mulean - (b ) Kolkata
{9 Alwar (d) Patna
3 (d) Patna o

172. The energy that can harness heat
stored below the Earth’s surfaee is
known as »

_ {a)thermal energy

- {b) nucledr energy
~ {c)tidal energy. )
(d) geo-thermal energy

» (d) Geo-thermat Energy .

173. The temperature of boiling waterina '
stearh engine may be high because
(a) there. are d|ssolved substances in

water -
" (b) there is. low pressure mmde the
boiler
“(c) there is htgh pressure msnde the .
" boller .

(d) thefireis ar very high temperature
» © There s hlgh pressyre inside the boiler:
174. Konark, which - has iamous ‘Sun
Temple with wonderful specimens of-
'( i amhmire, liesinthe state of
(a

(b) G.uJarat - .
(c) Karnataka: -
(d). Madhya Pradesh
@ Odisha~— Komrk which has famous for
13th ‘century ‘Sun Cod Temple" fies in
Odisha. Konark is a sinall town in -Pari
district of state Odisha, Sixty-five krlometres
from Bhubaneswar.

175. AGMARKmaguamnteeofsmndm

(a) quality (b) quantity.
{0 welght - (d) size
» (a)Quality: ~ . - .

176. Vector of Kala-azar is
“(2) Anopheles mosquito

" (b) Cuilex mosguito
+(c) Tse-Tsefly
(d) Sand fly
» (d) Sandfly . _
.177. The - World Day’, Combat
‘ esemﬁtztwn is obsewed every year
(a) 4th May (b) 17th June
{c) 14th August: {(d)3rd October
) (b) The World Day to - Combat

Desertification in observed every year on

~+ 17th June'all over the world, The aim of the '

‘United Nations in designating a day of
-observance is to -sensitize the public and
policymakersxto. the increasing dangers of
‘desertification, - land . degradation and .
drought for the intemational community.

12 |
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!178 }ncaseno party» s - absolute
tymtheLegislaﬁveAssembly
of a State, the Governor will go by

_ (b) the advice of the'Piime Minister
(c) the advice of the ﬂesﬁdent of India
(d) his own discretioh” *

- ) (d) His own discretion. i

one revolution of the Sun is

[ (a) Mercury. . (b) Saturn

: (c) Jupier d) Mars

) (g) Mercury o

180. The chief raw mateml used for

manufacturing rayon js
(a)nylon
(b) cellulose
(¢) silicon O
(d) radium and argon

¥ ) Cellulose - S

“18’1 “GiddHa’ lsaformofdanceassoclated
withthe stateof - .
(a) Punjab
(b) Himachal Pradeshl :
_{c)Haryana -
(d)Rajasthan e

b (a) Punjab

182. The used to dilute o; for

breaﬁ%-:gbydeepseadwmx,ygm
(a) néon " (b)argon .
(c) nitrogen (d) helium

) (@ Helium is used in scuba tanks to dilute
oxygen. ltis chemacally inert, it means it does
net  participate in chemical reactiohs.

X Another reason is it much: less soluble in
watter than other gases such as nitrogen. The

“law solubility means it. does' not enter the -

bloodstream,  even . .under 'pressure,
- commondy experienced by deep sea divers.
183.. An instrument ‘used to measure

humidity is
*- () anemometer (b) hygrometer
(9 thermometer (d pyrhehometer
b (b} Hygrometer
184. Fatunheseparatedfmmmﬂkma
" cream separator becayse of
(a) cohesive force . B
(b)-gravitational force .. .. - .
.(c) centripetal force
(d) centrifugal force
) (d) Certriligal force . i
. 18& Thémarket price is relatsd o
(2} very short period :
+ " (b) sherc period -
(¢)lang period . e
- (d)vtrylongperiod -,
¥ (e} Long period
186 The.airways com
a Souﬂ;lnd:as‘Sunqup.& .
“(a)GoAir . (b)indiGo |
(c) Spice Jet (d) JEtAwwsys

& () the advice of former Chief Minister

: 179 Theplanetmattakesssdaysmmake-

company W by

» © Sp'ce}et
187 Indiais a secummmbecausemmzr

country
(a) state'has! ho religion
. (b) religion has been abolished
(¢) state patronizes a particular religion’
~ (d) None of the above

. (a) State ias no religion. :
" 188.- Who was the mother of Mahavira?

(a) Yashoda
(c) Jameli
» (b) Trishala
189 Equilibrium price is the price when
. (a) supply is greater than demand -
(b) supply is less than demand,
(c) demand is very high
"(d) supply is equal to demand
» (d) Supply is equal to demiand.

" (b) Trishala .
(d) Mahamaya

. 180. Th;mﬂm\‘lbaﬂ]eofPampatwas fought

year:
(a) AD 1526
. (©)AD761

. (b)AD 1556
" (dYAD 1776

» (c) AD 1761— The third Battle of Pampat .

took place on 14th january 1761, at Panipat
(Haryana) between Maratha conﬁdemcy
and Ahimad Shah Abdali. This -batt

- Considered" as one of the largest fought in .

18th century and has the largest number of
. fatalities in a single day.

191. Which of the followmg yeaxs has been

ranked as one of the three warinest
years?

(a) 2006 - (b) 2008

(c) 2009 (d)2010

'» (d) The year 2010 ranked.as the warmest

~ year on record together. with 2005 and 1998,
according ‘to the World Meterologcal
- Organization: In 2010, global average
temperature was 0.53° (095°F). This value is
0.01°C  (0.02%F) above the nominal
temperature in-2005 and 01)2°C (005°F)
above 1998. ,:
192. Cadnﬁumpolluhomsassomatedmth
(a) Minamata disease . :
_ (b) black foat disease
(c) dyslexia \
(d) icai-itai
D () Cadmium pollution is associated with
itai-itai disease. Cadmium polsomng causes
softemng of the.bones and kidney failure. The
disease is named for the severe pain caused
in joints dnd spine. ltai-itai disease is known

as one of the four big poﬂutmnd:seases o

Japan.

193, The Great Bath- of Indus ‘Valley

Civilization is found at

(a) Harappa

(b) Mohen-j

(¢) Ropar

(d) Kalibarigan .
» (a) Harappa o

194. Who invented ‘Hehcopter"’
(a) Cockerell
(b) Brequet
. () Otis
(d) Frank Whh}tle !

'» (b) Louis Brequet had invented helicopter.

195. Most of the computers available today

(a) third generation computers
(b) faurth generation computers
{(c) fifch generation computers
(d) sixth generation computers
b (b)th generation computers
196. Bleachmg powder i is prepared by
passing
(a) chlorine over slaked lime
(b) oxygen over sfaked lime
(c) carbon dioxide over slaked lime
(d) chlorine over quick lime
) (@) Blegching powder is actually a mixture of
calcium hypochlorite (Ca(ClO),) and -the
basic chloride CaCl, - H,0 with some slaked
lime, Ca(OH),

Ca(OH), +Cl, > CaOCl2 +H0

197. Gas released during Bhopal tragedy

. (a) sodlum |soth|ocyanate

. (b) potassium isothiocyanate
'w( thyl isothiocyanate
" (] ethyl isothiocyanate

) It occbmd on the night of December 2-3,

.19 he Union Carbide Indian Limited -
(UOL)‘ icide plant in Bhopal, Madhya

Pmds#;ﬁdra

198, ‘National Botamcal Gardm is
{ocated at .
(a) Shimla
- (b) Kolkata
+{c} Lucknow )
o (d) Bengaluru
» (b)Kolkata

-199, October and November months give

mote rainfall to
, (2) Malwa plateau
{b) Chhota Nagpur plateau .
(c) Eastern hills
{d) Coromandal coast
» (d) The Coromandal Codst falls in the rain
shadow of the western ghats and receives a
Jess rainfalf during the summer South-West
monsoon, which contributes heavily. to
mMII' in the rest. of .India. The region
s 800 mimfyr, most of which-falls

. Mmm October and December,

* 200. Which one of the following i
considered as the nature’s radar?
(a) Hippopotamus (b) Pigeon
(c) Vuleure - (d) Owl

© Vilture
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